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Award TWO marks for the correct answer of
85 ().

If the answer is incorrect or missing, award
ONE mark for evidence of a complete,

correct method, e.g.

© 20+20+20 +2!
ho answer)

* 203 =40(error)

40 + 2

= (incorrect or

im

Use the example responses given on
pages 18 - 19 to help determine how
many marks can be awarded.
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156) 1 Accept 10p and 5p, or a drawing of the
two coins, without an answer written in
the answer bor.




image2.png
@

19

tems ticked as shown:

Accept any other dlear way of indicating
the correct items, eg joining the two.
itemns

Do not award the mark if more than
two items are Indicated.

‘Accept two ticks by the 50p item.
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Tick drawn on the correct bag, as shown:

m

Accept any other clear way of indicating
the correct bag.

Do not award the mark if other bags are.
indicated, unless it is clear that the correot
bag s the pupil's final choice.

Accept a tick that is near o the correct
answer, so as long as it is unambigous as
10 which bag is identified.
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‘Three correct fruits ticked as shown:
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Accept any other clear way of indicating
the correct fruts shown on the page &.g.
50p + 20p + 30p = 100p or £1

(Refer to general marking principle 4 on
page 6)
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Accept any unambiguous indication of the
correct amount, e.g.

. ©600
- ©6.00p
Do not award the mark for answers whero
the amount of pounds and/or pence are
incorrect, &.g. £1600 or (£/600p, unless
the £ symbol has been crossed out in the
answer box.





